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1 fEK % Fyay7’ 35 34 35 34 138
2T Bk EHE E 35 38 33 36 142
2T B KX LHOH 36 37 34 35 142
4T FE Rl 2HAY-N 36 38 36 33 143
4T AR S B~ IR 36 36 33 38 143
XL E SRR EEARBI-—F

4T Bk Ttk BEHAY-I 34 34 39 36 143
T =H EEH N—E=-EILR 36 39 37 32 144
T FE Wk 2-H00 36 37 34 37 144
9T AtE B NEZ—EIR 39 39 34 33 145
9T k& RS B A 36 37 35 37 145

XL E. 102% R
9T HyE 1PpLy FEDH 39 34 38 34 145
12T M IR E =R 40 34 34 38 146
12T #HAE VG FEDH 38 36 36 36 146
12T MR HHEE NE-—ELAR 35 37 40 34 146
12T BlUBKARE 2HAXY-M 37 33 38 38 146
16T A FIE RS 39 35 37 36 147
16T FE BE 2HAXY-M 35 36 42 34 147
18T ® EiEx £-H00 39 36 36 37 148
18T f2H E£X B A 37 37 39 35 148
18T gy &2 BARZEETH R 35 38 36 39 148
18T EREEES FEDH 36 36 39 37 148
22T TF BE ARZEET 4 R 38 36 36 39 149
22T IAEE K N—EZ—EILR 37 37 38 37 149
24T EH BE N—EZ—EIR 38 40 36 36 150
24T AR g N—EZ—EILR 36 39 34 41 150
24T AE EF BARZEET 4 R 37 37 40 36 150
24T —_E 18 AItE 36 35 40 39 150
28T B D At 38 39 35 39 151
28T FARE] 545t FEDHE 39 38 38 36 151
28T A EBF BRZE T4 R 38 39 38 36 151
28T FE ML N—EZ—-ELR 37 36 38 40 151
32T HIH #%3E PN 41 37 38 36 152
32T A HCH N—E=—-ELR 39 37 38 38 152
32T P BELRE PN 39 36 37 40 152
32T TR BaE 38 37 37 40 152
36T K fEi& FEDHZ 40 39 36 38 153
36T h¥ & N—E=—-ELR 40 39 38 36 153
36T Bk = 2yay7 41 37 37 38 153
36T FE ey Tt#HE 36 40 36 41 153
40T W FikE =R 41 36 41 36 154
40T EREES 1E B ER 36 36 38 44 154
42T AxX EE Z-H06H 40 41 38 39 158
42T %5 [E 4yay7° 39 40 39 40 158
44 AH KE FELHOY 41 40 42 40 163
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HIBEAZ 444
JE L K4 FEHFI—X ouT IN GROSS
1 Bk B BHAY-F 34 34 68
2 fak 4yay7 35 34 69
3 T XES FN=E. 37 33 70
4T FE i%m EN=E 35 36 71
4T ZE 1 BIFE 36 35 71
6T BRI ARZEEFH IR 36 36 72
6T HA BEEE FEDFH 36 36 72
6T MR HHEE N—E=—ELR 35 37 72
6T N E S 1€ [E] ER 36 36 72
10T Bk E4E L E 35 38 73
10T =2 HMAKL N—EZ—EJR 37 36 73
10T FE KLY FEDFH 39 34 73
10T B8 KX £HOH 36 37 73
10T T =1 IEERY—H N 36 37 73
10T hig I%EE %-HooH 36 37 73
10T iy FE A EFS R 35 38 73
17T £F BE M EFY R 38 36 74
17T 2l EX By —44 37 37 74
17T FE DInE =R 40 34 74
17T FE E 2HAY-F 36 38 74
17T #HAE U FEDH 38 36 74
17T A+ I BE 39 35 74
17T Wi KE N—E-—EILA 37 37 74
17T AE ZEF A EFS R 37 37 74
25T = H EEH N—EZ—E)LR 36 39 75
25T ® EBREE £-H00 39 36 75
25T AR T4 N—EZ—EIA 36 39 75
25T W PTH E35ES 38 37 75
25T hitd HREF PN 39 36 75
30T & IA4Y¥ t#pE 36 40 76
30T AT HCH N—E=—EJR 39 37 76
32T AR EBIF BEH~IR 38 39 77
32T PR A4t FEDFHF 39 38 77
32T g DEE Bt 38 39 77
32T A H B =R 41 36 77
36T B = 4yay7° 41 37 78
36T AIE 5% NI 41 37 78
36T &% X N—EZ—EIR 38 40 78
36T Ft+E = N—EZ—-ELR 39 39 78
40T hE & N—EZ—EIR 40 39 79
40T 1&£%F HE 5yny7° 39 40 79
40T KH #E1& FEDFE 40 39 79
43T A5FH KX FELHAIY 41 40 81
43T S £-H0OH 40 41 81
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